I'pa¢uk oneHOYHBIX Mpoueayp (KOHTPOJIbHBIX padoT, TECTOB, IMATHOCTHYECKHX PA0OT, IMKTAHTOB) TI(

Kiacc|2a0
Ilepuon npoBeeHNs OLICHOYHOM NPOLEAYPHI CeHTsA0pH OkTs0pb Hosiopb Jexadpnb
¥l 5| = 5l 5| 5| = 5l 5| B & 5l 5| 5| =
==l =] =2 =l = =] = =l = 5| = =l = 2| =
2] 2 2] 2] =) 2] 2 2] 2 =) 2] 2 2] 2 =) 2] 2 2 2] =)
sfoef s o= 2o o s o=l S o =) o= o= 2 o= ol o=l x| 2
o|lo| o @ 3| 2] @ o | 5| 2| @f| @ | 5| @| @ @| 2| 5
. glEl=| =S| =l El=|l =[S =l=|=l=]3| =] = =| =23
YuebHblii npeaver —lalen|[sr | Al | A=A =] |en] |
Pycckwii s13p1k 1 1] 1 1 2 1 1l 2 1 1
JlutepatypHoe ureHue 0 0 0] 1 1
Marematuka 1 1 0] 1 1f 2 0
OxpyKarmui MUp 0 1 1 1 1 1 1
N3o06pasurenpHOE NCKYCCTBO 0] 1 1 0 0
My3bika 0 0 0 0
Tpyn(TexHomorus) 0 0 0 0
dusnyeckas KyibTypa 1 1 1 1] 1 1 1 1




g~ o
O « —
@
™
O
=
L
O
m
(NERT: (A -
BIFX/OH §
Wm BICYOH ¢~ -
BIFOYOH T
BIRIOH |
NERT: (R N
4| BIAYRH
5
= BIXH ¢~ -
<[ Tsroron 4D
> BIFXOH | -
)
s oxd0g| !
=
2
= BIFOY/H
o =
= = —
’= S| BIRYOH ¢
2| |=
= BIravon 7|~
W BICOX/OH |
=
= (NERT: (A !
=
- —i
A 4 | BIFRYAH
=
gl | g g
2| | & srowon ¢
o 2
D
m © | Brrovon 7
m BIFOYOH |
D
) — i
= 0130
S
S 2| BIrovoH ¢
RE
ol | =| sroven ¢~ =
3l IR
]
2 BIFY/OH
-
















